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| dentifying Decimal Equation Patterns Name:
Use decimal multiplication and division rulesto fill in the blank. ANnswers
1) 539.4+ =53.94
1.
2) +100=788.1
2.
3) 773.947x100 =
3.
4) 50.271x =502.71
4.
5) 386.794x100 =
5.
6) 41,963.6+-100 =
6.
7) +10 = 357.471
7.
8) 74,147.5+100 =
8.
9) 220.5x100 =
9.
10) x10 = 4,332.7
10.
11) 9,775+10=
11.
12) 68,443.4+100 =
12.
13) x1,000 = 619,720
13.
14) 850.319x = 850,319
14.
15) +10=711.9
15.
16) 567,560+ = 567.56
16.
17) x100= 17,270
17.
18) 90.355%1,000 =
18.
19) +100 = 891.372
19.
20) 603,250+ =603.25 20
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|dentifying Decimal Equation Patterns Name:. Answer Key
Use decimal multiplication and division rulesto fill in the blank. Answers
1) 5394+ 10 =539
1 10
2) 78,810 +100=788.1
- 2 78,810
3) 773.947x100= 77,394.7
17,3947 s 77,3947
4) 50.271x 10 =502.71
4 10
5) 386.794x100= 38,679.4
- 5 38,67/9.4
6) 41,963.6+100= 419.636
- 6. 419.636
7) 357471 +10=357.471
it e, 72 3,574.71
8) 74,1475+100= 741.475
— s (41.475
9) 220.5x100= 22,050
— 0. 22,050
10 433.27 x10=4,332.7
) _43327 10, 433.27
11) 9,775+10= 9775
) 1. 9775
12) 68,443.4+-100= 684.434
) - 12. 684.434
13 619.72 x1,000 = 619,720
) 19.72 13, 619.72
14) 850.319x 1,000 =850,319
) " L000 11,000
15 =10 = .
) 7,119 +10=7119 s 7,119
16 - = .
) 567,560+ 1,000 567.56 " 1,000
17 =
) 172.7 x100= 17,270 - 172.7
18 =
) 90.355%1,000 90,355 18 90’355
19 - =
)  89,137.2 +100=891.372 Lo 89, 137.2
20) 603,250+ 1,000 =603.25 0. 1,000
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